De venteo, pilot-operated, pistdn balanceado alivio médulo principal con cavidad de

. MODELO control T-8A integral y drenaje al puerto 4
hydraulics :
awmoscomeane | R\V/CD8 CAPACIDAD: 60 L/min. [ CAVITY: T-21A
sunhydraulics.com/model/RVCD8
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TECHNICAL DATA NOTE: DATA MAY VARY BY CONFIGURATION. SEE CONFIGURATION SECTION.

cavidad T-21A

Series 1

Capacity 60 L/min.

Maximum Operating Pressure 350 bar

Control Pilot Flow 0,11 - 0,16 L/min.

Main stage leakage at 110 SUS (24 cSt) 30 cc/min.@70 bar

Pilot Control Cavity T-8A

Response Time - Typical 10 ms

Valve Hex Size 22,2 mm

Valve Installation Torque 41-47 Nm

Model Weight 0.13 kg.

Seal kit - Cartridge Buna: 990-021-007

Seal kit - Cartridge EPDM: 990-021-014

Seal kit - Cartridge Polyurethane: 990-021-002
Seal kit - Cartridge Viton: 990-021-006

Seal kit - Cartridge Buna: 990-021-007

Seal kit - Cartridge EPDM: 990-021-014

Seal kit - Cartridge Polyurethane: 990-021-002
Seal kit - Cartridge Viton: 990-021-006
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MINIMUM CONTROL PRESSURE

W 100 psi (7 bar)
D 25psi(1,7 bar)

PERFORMANCE CURVES

BAR P2l pressurevs. Command
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OPTION SELECTION EXAMPLE: RVCD8WN
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Pilot contral provided by
Fropordional Pilot Relief, Model RBAP-MAR
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BAR PSI Pressure vs. Flow Yented Pressure
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